
n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                    375,568.45 
!=! r'Qmf k"FhL                      158,037.55 
!=@ hu]8f tyf sf]if                       84,308.81 
!=# aLdf sf]if                       133,222.09 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L                                  -   
@= pkof]u -@=!+@=%_                    375,568.45 
@=! l:y/ ;DklQ -v'b_                        16,877.93 
@=@ lb3{sflng nufgL tyf shf{                        91,630.57 
@=# v'b rfn' ;DklQ -# – $_                   266,989.08 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{                             70.87 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg                                  -   
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     529,321.62 
#=! gub tyf a}+s df}Hbft                        34,903.95 
#=@ cNksflng nufgL tyf shf{                       343,693.91 
#=# cGo ;DklQ                       150,723.76 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     262,332.54 
$=! rfn' bfloTj                       69,070.84 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                        74,176.75 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                        52,025.18 
$=$ cGo Aoj:yf                        67,059.77 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                     14,460.55 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                         7,638.98 
!=@ nufgL shf{ tyf cGoaf6 cfo                          5,510.16 
!=# Aoj:yf lkmtf{                          1,310.41 
!=$ cGo cfDbfgL                               1.00 
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                        6,536.68 
@=! Aoj:yfkg vr{                            856.35 
@=@ ckn]vg vr{                                  -   
@=# cGo vr{                            427.77 
@=$ gf]S;fgLsf] nflu Aoj:yf                            238.39 
@=% sd{rf/L cfjf; Aoj:Yff                            179.42 
@=^ sd{rf/L af]g; Aoj:Yff                         1,240.06 
@=& cfos/                         3,594.69 

v'b gfkmf÷gf]S;fg -! – @=_                    7,923.87 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                    152,241.69 
!=! aLdfz'Ns -v'b_                         36,366.36 
!=@ k'gaL{df sldzg cfo                         9,038.94 
!=# nufgL, shf{ tyf cGoaf6 cfo                          3,466.85 
!=$ cGo k|ToIf cfo                             24.54 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        52,555.95 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                       50,789.05 
@ Aoo -@=! – @=* ;Dd_                144,603.25 
@=! bfjL e'QmfgL -v'b_                         13,639.35 
@=@ clestf{ sldzg                          1,332.82 
@=# k'gaL{df sldzg vr{                              66.53 
@=$ ;]jf z'Ns -v'b_                            413.35 
@=% cGo k|ToIf vr{                             44.98 
@=^ Aoj:yfkg vr{                         8,033.44 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        52,025.14 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                       69,047.64 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                   7,638.44 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                            77,060 
@= hf/L aLDffn]vsf] ;+Vof                          630,749 
#= gjLs/0f aLdfn]]vsf] ;+Vof                           127,716 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            41,978 
%= s'n bfjL e'QmfgL ;+Vofdf                            19,104 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                            126,613 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                           45,882 

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo

cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd
lghL{jg aLdf Aoj;fo ug]{ aLdsx?sf] 

jf;nft



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      19,954.62 
!=! r'Qmf k"FhL                         11,503.13 
!=@ hu]8f tyf sf]if                         3,892.79 
!=# aLdf sf]if                         4,558.70 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      19,954.62 
@=! l:y/ ;DklQ -v'b_                             773.16 
@=@ lb3{sflng nufgL tyf shf{                         4,835.80 
@=# v'b rfn' ;DklQ -# – $_                      14,345.66 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      31,697.49 
#=! gub tyf a}+s df}Hbft                         2,847.85 
#=@ cNksflng nufgL tyf shf{                        20,623.94 
#=# cGo ;DklQ                         8,225.70 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      17,351.83 
$=! rfn' bfloTj                          3,146.30 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         4,502.96 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          3,565.96 
$=$ cGo Aoj:yf                           6,136.61 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                          932.99 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            537.97 
!=@ nufgL shf{ tyf cGoaf6 cfo                            351.55 
!=# Aoj:yf lkmtf{                             42.47 
!=$ cGo cfDbfgL                               1.00 
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                      387.55 
@=! Aoj:yfkg vr{                             57.85 
@=@ ckn]vg vr{ 
@=# cGo vr{                               4.09 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              87.11 
@=& cfos/                            238.50 

v'b gfkmf÷gf]S;fg -! – @=_                     545.44 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                        9,233.62 
!=! aLdfz'Ns -v'b_                         1,905.40 
!=@ k'gaL{df sldzg cfo                           404.49 
!=# nufgL, shf{ tyf cGoaf6 cfo                             160.21 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          3,423.15 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          3,340.37 
@ Aoo -@=! – @=* ;Dd_                   8,695.65 
@=! bfjL e'QmfgL -v'b_                            357.28 
@=@ clestf{ sldzg                              59.31 
@=# k'gaL{df sldzg vr{                               0.93 
@=$ ;]jf z'Ns -v'b_                              19.05 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            520.61 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          3,565.96 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          4,172.51 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      537.97 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          3,307.75 
@= hf/L aLDffn]vsf] ;+Vof                             39,217 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              1,011 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            652.69 
%= s'n bfjL e'QmfgL ;+Vofdf                                714 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          8,367.21 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                               2,361 

1= g]kfn OG:of]/]G; s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                        7,523.21 
!=! r'Qmf k"FhL
!=@ hu]8f tyf sf]if                           (432.52)
!=# aLdf sf]if                          7,955.73 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                        7,523.21 
@=! l:y/ ;DklQ -v'b_                             115.51 
@=@ lb3{sflng nufgL tyf shf{                        10,241.66 
@=# v'b rfn' ;DklQ -# – $_                       (2,833.96)
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      19,971.86 
#=! gub tyf a}+s df}Hbft                            647.69 
#=@ cNksflng nufgL tyf shf{                        15,022.78 
#=# cGo ;DklQ                          4,301.39 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     22,805.82 
$=! rfn' bfloTj                          6,477.27 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         6,269.04 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                         7,079.83 
$=$ cGo Aoj:yf                         2,979.68 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                          141.23 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                             89.47 
!=@ nufgL shf{ tyf cGoaf6 cfo                             38.44 
!=# Aoj:yf lkmtf{                              13.32 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                            71.37 
@=! Aoj:yfkg vr{                              31.45 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                               9.98 
@=& cfos/                             29.94 

v'b gfkmf÷gf]S;fg -! – @=_                           69.86 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                      14,011.10 
!=! aLdfz'Ns -v'b_                          2,319.17 
!=@ k'gaL{df sldzg cfo                              8.04 
!=# nufgL, shf{ tyf cGoaf6 cfo                           345.98 
!=$ cGo k|ToIf cfo                               0.02 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          7,756.02 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         3,581.87 
@ Aoo -@=! – @=* ;Dd_                   13,921.63 
@=! bfjL e'QmfgL -v'b_                          1,726.46 
@=@ clestf{ sldzg                              30.23 
@=# k'gaL{df sldzg vr{                             55.34 
@=$ ;]jf z'Ns -v'b_                              31.05 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            283.05 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         7,079.83 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          4,715.67 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                          89.47 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         3,104.78 
@= hf/L aLDffn]vsf] ;+Vof                              7,310 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              2,036 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          2,169.06 
%= s'n bfjL e'QmfgL ;+Vofdf                                341 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                        7,442.84 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              1,425 

2= lb cf]l/P)^n OG:of]/]G; s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                       6,857.25 
!=! r'Qmf k"FhL
!=@ hu]8f tyf sf]if                         (4,112.02)
!=# aLdf sf]if                        10,969.27 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                       6,857.25 
@=! l:y/ ;DklQ -v'b_                              91.33 
@=@ lb3{sflng nufgL tyf shf{                         3,078.29 
@=# v'b rfn' ;DklQ -# – $_                        3,687.63 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     24,208.12 
#=! gub tyf a}+s df}Hbft                            330.92 
#=@ cNksflng nufgL tyf shf{                       18,597.45 
#=# cGo ;DklQ                          5,279.75 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     20,520.49 
$=! rfn' bfloTj                         8,081.66 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         3,349.47 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          5,562.27 
$=$ cGo Aoj:yf                          3,527.09 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                        (576.40)
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                           (576.40)
!=@ nufgL shf{ tyf cGoaf6 cfo
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                        (2.58)
@=! Aoj:yfkg vr{                              16.97 
@=@ ckn]vg vr{ 
@=# cGo vr{                              (0.02)
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff
@=& cfos/                             (19.53)

v'b gfkmf÷gf]S;fg -! – @=_                     (573.82)

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                          7,286.92 
!=! aLdfz'Ns -v'b_                          1,623.24 
!=@ k'gaL{df sldzg cfo                            362.84 
!=# nufgL, shf{ tyf cGoaf6 cfo                            395.05 
!=$ cGo k|ToIf cfo                               0.02 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        4,340.84 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                            564.93 
@ Aoo -@=! – @=* ;Dd_                        7,863.32 
@=! bfjL e'QmfgL -v'b_                          1,250.62 
@=@ clestf{ sldzg                              27.06 
@=# k'gaL{df sldzg vr{                                3.11 
@=$ ;]jf z'Ns -v'b_                             55.88 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            152.76 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          5,562.27 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                            811.62 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_ - -@_                        (576.40)

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         2,845.42 
@= hf/L aLDffn]vsf] ;+Vof                              5,529 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              1,788 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                         1,494.53 
%= s'n bfjL e'QmfgL ;+Vofdf                                456 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          6,281.50 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              1,006 

3= g]zgn OG:of]/]G; s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      19,458.13 
!=! r'Qmf k"FhL                       10,682.88 
!=@ hu]8f tyf sf]if                         3,034.05 
!=# aLdf sf]if                         5,741.20 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      19,458.13 
@=! l:y/ ;DklQ -v'b_                            571.65 
@=@ lb3{sflng nufgL tyf shf{                         4,063.41 
@=# v'b rfn' ;DklQ -# – $_                     14,823.07 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      23,553.79 
#=! gub tyf a}+s df}Hbft                          1,911.48 
#=@ cNksflng nufgL tyf shf{                        16,645.00 
#=# cGo ;DklQ                          4,997.31 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       8,730.72 
$=! rfn' bfloTj                         3,286.45 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         1,764.87 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                         1,055.94 
$=$ cGo Aoj:yf                          2,623.46 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         458.96 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            296.10 
!=@ nufgL shf{ tyf cGoaf6 cfo                            162.86 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                         196.08 
@=! Aoj:yfkg vr{                              41.69 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              41.73 
@=& cfos/                             112.66 

v'b gfkmf÷gf]S;fg -! – @=_                     262.88 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       3,746.38 
!=! aLdfz'Ns -v'b_                            838.73 
!=@ k'gaL{df sldzg cfo                            237.84 
!=# nufgL, shf{ tyf cGoaf6 cfo                             316.14 
!=$ cGo k|ToIf cfo                               5.57 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            973.46 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          1,374.64 
@ Aoo -@=! – @=* ;Dd_                   3,450.28 
@=! bfjL e'QmfgL -v'b_                            201.08 
@=@ clestf{ sldzg                              38.75 
@=# k'gaL{df sldzg vr{                               0.43 
@=$ ;]jf z'Ns -v'b_                               8.39 
@=% cGo k|ToIf vr{                               5.57 
@=^ Aoj:yfkg vr{                            375.25 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         1,055.94 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                         1,764.87 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      296.10 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          1,843.11 
@= hf/L aLDffn]vsf] ;+Vof                             23,338 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              4,631 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                        11,378.94 
%= s'n bfjL e'QmfgL ;+Vofdf                                749 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                              2,567 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              1,797 

4= lxdfnog hg/n O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      14,229.75 
!=! r'Qmf k"FhL                        10,281.60 
!=@ hu]8f tyf sf]if                            862.11 
!=# aLdf sf]if                         3,086.04 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      14,229.75 
@=! l:y/ ;DklQ -v'b_                            219.77 
@=@ lb3{sflng nufgL tyf shf{                          2,324.64 
@=# v'b rfn' ;DklQ -# – $_                      11,685.34 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     22,049.84 
#=! gub tyf a}+s df}Hbft                         1,488.25 
#=@ cNksflng nufgL tyf shf{                        13,958.09 
#=# cGo ;DklQ                          6,603.50 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      10,364.50 
$=! rfn' bfloTj                         3,549.49 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          2,351.67 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                           3,117.17 
$=$ cGo Aoj:yf                          1,346.17 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                          210.14 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                              11.03 
!=@ nufgL shf{ tyf cGoaf6 cfo                            199.11 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          103.27 
@=! Aoj:yfkg vr{                             40.51 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              16.96 
@=& cfos/                             45.80 

v'b gfkmf÷gf]S;fg -! – @=_                      106.87 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       6,164.47 
!=! aLdfz'Ns -v'b_                           1,313.43 
!=@ k'gaL{df sldzg cfo                            343.65 
!=# nufgL, shf{ tyf cGoaf6 cfo                             82.06 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          2,931.45 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         1,493.88 
@ Aoo -@=! – @=* ;Dd_                   6,153.44 
@=! bfjL e'QmfgL -v'b_                            298.41 
@=@ clestf{ sldzg                             85.04 
@=# k'gaL{df sldzg vr{
@=$ ;]jf z'Ns -v'b_                              13.14 
@=% cGo k|ToIf vr{                               5.47 
@=^ Aoj:yfkg vr{                            364.55 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                           3,117.17 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          2,269.66 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                        11.03 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          2,674.97 
@= hf/L aLDffn]vsf] ;+Vof                             33,167 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              2,057 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            510.97 
%= s'n bfjL e'QmfgL ;+Vofdf                               440 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          5,592.66 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              3,095 

5= o"gfO^]* OG:of]/]G; s+=-g]kfn_ ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                       22,139.36 
!=! r'Qmf k"FhL                        10,745.60 
!=@ hu]8f tyf sf]if                          4,273.95 
!=# aLdf sf]if                          7,119.81 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                       22,139.36 
@=! l:y/ ;DklQ -v'b_                           874.77 
@=@ lb3{sflng nufgL tyf shf{                         4,901.05 
@=# v'b rfn' ;DklQ -# – $_                      16,363.54 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      29,473.75 
#=! gub tyf a}+s df}Hbft                            757.00 
#=@ cNksflng nufgL tyf shf{                        21,865.75 
#=# cGo ;DklQ                         6,851.00 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       13,110.21 
$=! rfn' bfloTj                         2,456.48 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         4,529.41 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                         4,554.39 
$=$ cGo Aoj:yf                          1,569.93 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                       1,405.22 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                             512.16 
!=@ nufgL shf{ tyf cGoaf6 cfo                            506.76 
!=# Aoj:yf lkmtf{                            386.30 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          614.93 
@=! Aoj:yfkg vr{                              60.13 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf                            194.39 
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                          104.61 
@=& cfos/                           255.80 

v'b gfkmf÷gf]S;fg -! – @=_                      790.29 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       11,121.38 
!=! aLdfz'Ns -v'b_                          2,462.67 
!=@ k'gaL{df sldzg cfo                            567.57 
!=# nufgL, shf{ tyf cGoaf6 cfo                            234.55 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         4,690.49 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                           3,166.10 
@ Aoo -@=! – @=* ;Dd_                  10,609.22 
@=! bfjL e'QmfgL -v'b_                           879.05 
@=@ clestf{ sldzg                             79.99 
@=# k'gaL{df sldzg vr{                               0.56 
@=$ ;]jf z'Ns -v'b_                              24.63 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            541.19 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         4,554.39 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                         4,529.41 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      512.16 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         4,563.84 
@= hf/L aLDffn]vsf] ;+Vof                           41,445 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              8,653 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          4,737.67 
%= s'n bfjL e'QmfgL ;+Vofdf                             1,489 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         26,319.57 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                             4,564 

6= lk|ldo/ OG:of]/]G; s+=-g]kfn_ ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                     17,277.88 
!=! r'Qmf k"FhL                        10,959.30 
!=@ hu]8f tyf sf]if                        2,898.44 
!=# aLdf sf]if                         3,420.14 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                     17,277.88 
@=! l:y/ ;DklQ -v'b_                           1,111.72 
@=@ lb3{sflng nufgL tyf shf{                          3,338.68 
@=# v'b rfn' ;DklQ -# – $_                     12,827.48 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     19,099.47 
#=! gub tyf a}+s df}Hbft                          2,285.63 
#=@ cNksflng nufgL tyf shf{                        12,551.50 
#=# cGo ;DklQ                          4,262.34 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                        6,271.99 
$=! rfn' bfloTj                          1,723.20 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         2,591.89 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          1,366.74 
$=$ cGo Aoj:yf                            590.16 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                          571.21 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            237.99 
!=@ nufgL shf{ tyf cGoaf6 cfo                            234.22 
!=# Aoj:yf lkmtf{                             99.00 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                      265.81 
@=! Aoj:yfkg vr{                             42.45 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf                             44.00 
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                            48.48 
@=& cfos/                            130.88 

v'b gfkmf÷gf]S;fg -! – @=_                     305.40 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       5,040.93 
!=! aLdfz'Ns -v'b_                          1,211.04 
!=@ k'gaL{df sldzg cfo                            296.03 
!=# nufgL, shf{ tyf cGoaf6 cfo                             85.89 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         1,405.00 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         2,042.97 
@ Aoo -@=! – @=* ;Dd_                  4,802.94 
@=! bfjL e'QmfgL -v'b_                           402.20 
@=@ clestf{ sldzg                             47.99 
@=# k'gaL{df sldzg vr{
@=$ ;]jf z'Ns -v'b_                              12.11 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            382.01 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          1,366.74 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                         2,591.89 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      237.99 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          2,691.19 
@= hf/L aLDffn]vsf] ;+Vof                            25,871 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              7,761 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          2,717.07 
%= s'n bfjL e'QmfgL ;+Vofdf                                769 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                        10,428.76 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              4,315 

7= Pe/]i^ OG:of]/]G; s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      28,773.14 
!=! r'Qmf k"FhL                         13,174.32 
!=@ hu]8f tyf sf]if                          6,659.59 
!=# aLdf sf]if                          8,939.23 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      28,773.14 
@=! l:y/ ;DklQ -v'b_                          4,136.39 
@=@ lb3{sflng nufgL tyf shf{                          6,195.87 
@=# v'b rfn' ;DklQ -# – $_                    18,440.88 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    42,049.88 
#=! gub tyf a}+s df}Hbft                          2,629.10 
#=@ cNksflng nufgL tyf shf{                        27,490.11 
#=# cGo ;DklQ                         11,930.67 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     23,609.00 
$=! rfn' bfloTj                          2,715.26 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          8,522.10 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          2,919.83 
$=$ cGo Aoj:yf                         9,451.81 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                       2,039.38 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                         1,248.75 
!=@ nufgL shf{ tyf cGoaf6 cfo                           476.40 
!=# Aoj:yf lkmtf{                            314.23 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                         794.80 
@=!                              83.60 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                            177.80 
@=& cfos/                            533.40 

v'b gfkmf÷gf]S;fg -! – @=_                   1,244.58 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                     14,803.14 
!=! aLdfz'Ns -v'b_                          4,328.51 
!=@ k'gaL{df sldzg cfo                            555.07 
!=# nufgL, shf{ tyf cGoaf6 cfo                            229.42 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          3,377.39 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          6,312.75 
@ Aoo -@=! – @=* ;Dd_                  13,554.49 
@=! bfjL e'QmfgL -v'b_                          1,229.22 
@=@ clestf{ sldzg                             87.74 
@=# k'gaL{df sldzg vr{                              (0.09)
@=$ ;]jf z'Ns -v'b_                              43.29 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            752.40 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          2,919.83 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          8,522.10 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                   1,248.65 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         6,817.00 
@= hf/L aLDffn]vsf] ;+Vof                            78,042 
#= gjLs/0f aLdfn]]vsf] ;+Vof                            12,654 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                         2,039.00 
%= s'n bfjL e'QmfgL ;+Vofdf                              1,566 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          6,666.00 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              2,469 

8= g]sf] OG;'/]G; ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      23,473.12 
!=! r'Qmf k"FhL                         10,012.23 
!=@ hu]8f tyf sf]if                         6,868.29 
!=# aLdf sf]if                          6,592.60 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      23,473.12 
@=! l:y/ ;DklQ -v'b_                         1,884.31 
@=@ lb3{sflng nufgL tyf shf{                          5,168.41 
@=# v'b rfn' ;DklQ -# – $_                     16,420.40 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      46,159.91 
#=! gub tyf a}+s df}Hbft                           1,373.23 
#=@ cNksflng nufgL tyf shf{                        24,324.23 
#=# cGo ;DklQ                       20,462.45 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      29,739.51 
$=! rfn' bfloTj                         8,093.99 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         7,241.99 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          4,576.96 
$=$ cGo Aoj:yf                         9,826.57 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         942.85 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            593.52 
!=@ nufgL shf{ tyf cGoaf6 cfo                            349.33 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          386.36 
@=! Aoj:yfkg vr{                              68.27 
@=@ ckn]vg vr{ 
@=# cGo vr{                               0.09 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                             79.50 
@=& cfos/                            238.50 

v'b gfkmf÷gf]S;fg -! – @=_                     556.49 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                      14,229.19 
!=! aLdfz'Ns -v'b_                          3,581.34 
!=@ k'gaL{df sldzg cfo                            716.30 
!=# nufgL, shf{ tyf cGoaf6 cfo                            193.45 
!=$ cGo k|ToIf cfo                              12.28 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         4,598.67 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          5,127.15 
@ Aoo -@=! – @=* ;Dd_                   13,636.15 
@=! bfjL e'QmfgL -v'b_                          1,306.98 
@=@ clestf{ sldzg                             117.35 
@=# k'gaL{df sldzg vr{                               0.24 
@=$ ;]jf z'Ns -v'b_                              35.81 
@=% cGo k|ToIf vr{                                5.31 
@=^ Aoj:yfkg vr{                            614.46 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          4,576.96 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                         6,979.04 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                     593.04 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          7,361.77 
@= hf/L aLDffn]vsf] ;+Vof                           50,824 
#= gjLs/0f aLdfn]]vsf] ;+Vof                             22,107 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                         2,140.79 
%= s'n bfjL e'QmfgL ;+Vofdf                              1,318 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         9,205.05 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              4,133 

9= ;u/dfyf OG:of]/]G; s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                     20,867.87 
!=! r'Qmf k"FhL                        10,562.75 
!=@ hu]8f tyf sf]if                          3,247.52 
!=# aLdf sf]if                         7,057.60 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                     20,867.87 
@=! l:y/ ;DklQ -v'b_                           847.43 
@=@ lb3{sflng nufgL tyf shf{                          3,738.34 
@=# v'b rfn' ;DklQ -# – $_                      16,282.10 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     24,958.18 
#=! gub tyf a}+s df}Hbft                         1,609.89 
#=@ cNksflng nufgL tyf shf{                         7,902.85 
#=# cGo ;DklQ                       15,445.44 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       8,676.08 
$=! rfn' bfloTj                          3,194.71 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          3,464.66 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                            618.86 
$=$ cGo Aoj:yf                          1,397.85 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         938.64 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            623.70 
!=@ nufgL shf{ tyf cGoaf6 cfo                            314.94 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          375.02 
@=! Aoj:yfkg vr{                              46.76 
@=@ ckn]vg vr{ 
@=# cGo vr{                                6.19 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                             80.52 
@=& cfos/                            241.55 

v'b gfkmf÷gf]S;fg -! – @=_                          563.62 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       5,556.85 
!=! aLdfz'Ns -v'b_                         2,229.04 
!=@ k'gaL{df sldzg cfo                            517.58 
!=# nufgL, shf{ tyf cGoaf6 cfo                             86.24 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                           749.34 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          1,974.65 
@ Aoo -@=! – @=* ;Dd_                    4,933.15 
@=! bfjL e'QmfgL -v'b_                            387.45 
@=@ clestf{ sldzg                              51.90 
@=# k'gaL{df sldzg vr{                               0.38 
@=$ ;]jf z'Ns -v'b_                              22.28 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                           420.88 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            618.86 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          3,431.40 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                          623.70 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         3,603.44 
@= hf/L aLDffn]vsf] ;+Vof                            25,987 
#= gjLs/0f aLdfn]]vsf] ;+Vof                               6,361 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            939.58 
%= s'n bfjL e'QmfgL ;+Vofdf                              1,072 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                           1,333.06 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf

10= k|e' OG:of]/]G; ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                     16,840.96 
!=! r'Qmf k"FhL                        10,818.36 
!=@ hu]8f tyf sf]if                         2,278.50 
!=# aLdf sf]if                         3,744.10 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                     16,840.96 
@=! l:y/ ;DklQ -v'b_                           400.44 
@=@ lb3{sflng nufgL tyf shf{                         4,016.78 
@=# v'b rfn' ;DklQ -# – $_                      12,423.74 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     24,080.31 
#=! gub tyf a}+s df}Hbft                          2,412.68 
#=@ cNksflng nufgL tyf shf{                        13,807.00 
#=# cGo ;DklQ                          7,860.63 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      11,656.57 
$=! rfn' bfloTj                         4,399.72 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          3,343.28 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                            906.17 
$=$ cGo Aoj:yf                         3,007.40 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         607.43 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            330.92 
!=@ nufgL shf{ tyf cGoaf6 cfo                            276.51 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          252.81 
@=! Aoj:yfkg vr{                              46.51 
@=@ ckn]vg vr{ 
@=# cGo vr{                                3.66 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              50.66 
@=& cfos/                            151.98 

v'b gfkmf÷gf]S;fg -! – @=_                      354.62 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       5,486.22 
!=! aLdfz'Ns -v'b_                          1,580.33 
!=@ k'gaL{df sldzg cfo                           449.84 
!=# nufgL, shf{ tyf cGoaf6 cfo                              82.35 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                           855.80 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          2,517.90 
@ Aoo -@=! – @=* ;Dd_                    5,155.30 
@=! bfjL e'QmfgL -v'b_                            452.71 
@=@ clestf{ sldzg                             90.70 
@=# k'gaL{df sldzg vr{                               0.07 
@=$ ;]jf z'Ns -v'b_                             15.80 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                           418.64 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            906.17 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                           3,271.21 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      330.92 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          3,411.47 
@= hf/L aLDffn]vsf] ;+Vof                            34,856 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              4,511 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                         1,085.79 
%= s'n bfjL e'QmfgL ;+Vofdf                                 726 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         5,974.38 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              3,246 

11= cfOPdO{ hg/n OG;'/]G; s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                     18,593.58 
!=! r'Qmf k"FhL                        10,264.32 
!=@ hu]8f tyf sf]if                          2,756.41 
!=# aLdf sf]if                         5,572.85 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                     18,593.58 
@=! l:y/ ;DklQ -v'b_                            273.07 
@=@ lb3{sflng nufgL tyf shf{                          3,916.55 
@=# v'b rfn' ;DklQ -# – $_                     14,403.96 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      24,213.76 
#=! gub tyf a}+s df}Hbft                         1,482.44 
#=@ cNksflng nufgL tyf shf{                        17,342.48 
#=# cGo ;DklQ                         5,388.84 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      9,809.80 
$=! rfn' bfloTj                         4,093.72 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          2,811.26 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                           954.04 
$=$ cGo Aoj:yf                         1,950.78 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         687.69 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            200.64 
!=@ nufgL shf{ tyf cGoaf6 cfo                            334.06 
!=# Aoj:yf lkmtf{                            152.99 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                         280.59 
@=! Aoj:yfkg vr{                             44.12 
@=@ ckn]vg vr{ 
@=# cGo vr{                            3.84 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              58.16 
@=& cfos/                            174.47 

v'b gfkmf÷gf]S;fg -! – @=_                            407.10 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       5,031.48 
!=! aLdfz'Ns -v'b_                          1,426.43 
!=@ k'gaL{df sldzg cfo                            372.81 
!=# nufgL, shf{ tyf cGoaf6 cfo                            107.14 
!=$ cGo k|ToIf cfo                                6.35 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         1,074.55 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         2,044.20 
@ Aoo -@=! – @=* ;Dd_                  4,830.84 
@=! bfjL e'QmfgL -v'b_                             535.13 
@=@ clestf{ sldzg                            130.49 
@=# k'gaL{df sldzg vr{                               1.82 
@=$ ;]jf z'Ns -v'b_                              14.26 
@=% cGo k|ToIf vr{                              16.72 
@=^ Aoj:yfkg vr{                            397.10 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                           954.04 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                         2,781.28 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                     200.64 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          3,428.36 
@= hf/L aLDffn]vsf] ;+Vof                            27,268 
#= gjLs/0f aLdfn]]vsf] ;+Vof                             7,084 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          1,319.77 
%= s'n bfjL e'QmfgL ;+Vofdf                              1,178 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          3,031.34 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                               2,123 

12= k|'*]lG;on OG:of]/]G; s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      35,805.11 
!=! r'Qmf k"FhL                        14,702.17 
!=@ hu]8f tyf sf]if                          9,918.32 
!=# aLdf sf]if                        11,184.62 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      35,805.11 
@=! l:y/ ;DklQ -v'b_                         2,158.68 
@=@ lb3{sflng nufgL tyf shf{                          9,752.21 
@=# v'b rfn' ;DklQ -# – $_                      23,823.35 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{                             70.87 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     39,493.04 
#=! gub tyf a}+s df}Hbft                         3,898.86 
#=@ cNksflng nufgL tyf shf{                        24,255.64 
#=# cGo ;DklQ                        11,338.54 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      15,669.69 
$=! rfn' bfloTj                          2,115.18 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         8,243.34 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                           2,312.76 
$=$ cGo Aoj:yf                         2,998.41 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=$ ;Dd_                        2,010.31 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                          1,759.69 
!=@ nufgL shf{ tyf cGoaf6 cfo                            250.62 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                         787.29 
@=! Aoj:yfkg vr{                             88.41 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                            174.72 
@=& cfos/                            524.16 

v'b gfkmf÷gf]S;fg -! – @=_                    1,223.02 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                     14,647.64 
!=! aLdfz'Ns -v'b_                         4,340.38 
!=@ k'gaL{df sldzg cfo                           1,366.69 
!=# nufgL, shf{ tyf cGoaf6 cfo                            455.36 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         2,557.87 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          5,927.34 
@ Aoo -@=! – @=* ;Dd_                  12,887.95 
@=! bfjL e'QmfgL -v'b_                          1,422.12 
@=@ clestf{ sldzg                             70.58 
@=# k'gaL{df sldzg vr{
@=$ ;]jf z'Ns -v'b_                             43.40 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            795.73 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                           2,312.76 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          8,243.36 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                    1,759.69 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         9,043.88 
@= hf/L aLDffn]vsf] ;+Vof                             76,935 
#= gjLs/0f aLdfn]]vsf] ;+Vof                            15,185 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          3,627.95 
%= s'n bfjL e'QmfgL ;+Vofdf                               3,671 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         8,495.92 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              4,738 

13= lzv/ OG:of]/]G; s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      21,305.00 
!=! r'Qmf k"FhL                        11,418.00 
!=@ hu]8f tyf sf]if                         3,228.00 
!=# aLdf sf]if                         6,659.00 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      21,305.00 
@=! l:y/ ;DklQ -v'b_                          1,146.00 
@=@ lb3{sflng nufgL tyf shf{                         2,148.00 
@=# v'b rfn' ;DklQ -# – $_                     18,011.00 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    27,884.00 
#=! gub tyf a}+s df}Hbft                           654.00 
#=@ cNksflng nufgL tyf shf{                        20,686.00 
#=# cGo ;DklQ                         6,544.00 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       9,873.00 
$=! rfn' bfloTj                          2,517.00 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          3,937.00 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                         2,053.00 
$=$ cGo Aoj:yf                          1,366.00 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         728.00 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            399.00 
!=@ nufgL shf{ tyf cGoaf6 cfo                            329.00 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                         299.00 
@=! Aoj:yfkg vr{                             47.00 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                           68.00 
@=& cfos/                           184.00 

v'b gfkmf÷gf]S;fg -! – @=_                         429.00 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       7,654.00 
!=! aLdfz'Ns -v'b_                         1,978.00 
!=@ k'gaL{df sldzg cfo                            432.00 
!=# nufgL, shf{ tyf cGoaf6 cfo                            124.00 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          2,179.00 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         2,941.00 
@ Aoo -@=! – @=* ;Dd_                   7,255.00 
@=! bfjL e'QmfgL -v'b_                            722.00 
@=@ clestf{ sldzg                            101.00 
@=# k'gaL{df sldzg vr{
@=$ ;]jf z'Ns -v'b_                             20.00 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                           422.00 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         2,053.00 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          3,937.00 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                         399.00 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          3,611.00 
@= hf/L aLDffn]vsf] ;+Vof                            40,796 
#= gjLs/0f aLdfn]]vsf] ;+Vof                               6,232 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                         2,080.00 
%= s'n bfjL e'QmfgL ;+Vofdf                                864 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         7,704.00 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              2,594 

14= n'lDagL hg/n O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      24,116.89 

r'Qmf k"FhL                        10,246.50 
!=@ hu]8f tyf sf]if                         4,600.59 
!=# aLdf sf]if                         9,269.80 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      24,116.89 
@=! l:y/ ;DklQ -v'b_                            192.97 
@=@ lb3{sflng nufgL tyf shf{                         5,944.14 
@=# v'b rfn' ;DklQ -# – $_                     17,979.78 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      32,569.98 
#=! gub tyf a}+s df}Hbft                         3,479.00 
#=@ cNksflng nufgL tyf shf{                        19,071.09 
#=# cGo ;DklQ                        10,019.89 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     14,590.20 
$=! rfn' bfloTj                         4,189.35 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                         4,165.85 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          1,072.96 
$=$ cGo Aoj:yf                          5,162.04 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                        1,235.86 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                           504.86 
!=@ nufgL shf{ tyf cGoaf6 cfo                            537.20 
!=# Aoj:yf lkmtf{                            193.80 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          622.45 
@=! Aoj:yfkg vr{                              58.12 
@=@ ckn]vg vr{ 
@=# cGo vr{                               8.70 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff                            179.42 
@=^ sd{rf/L af]g; Aoj:Yff                           98.96 
@=& cfos/                            277.25 

v'b gfkmf÷gf]S;fg -! – @=_                          613.41 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       7,467.82 
!=! aLdfz'Ns -v'b_                           2,117.12 
!=@ k'gaL{df sldzg cfo                            839.61 
!=# nufgL, shf{ tyf cGoaf6 cfo                            146.28 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          1,368.62 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          2,996.19 
@ Aoo -@=! – @=* ;Dd_                        6,962.92 
@=! bfjL e'QmfgL -v'b_                          1,023.26 
@=@ clestf{ sldzg                            209.05 
@=# k'gaL{df sldzg vr{                               3.43 
@=$ ;]jf z'Ns -v'b_                              21.17 
@=% cGo k|ToIf vr{                              10.35 
@=^ Aoj:yfkg vr{                             523.12 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          1,072.92 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                         4,099.62 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                         504.90 

qm=;++  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         5,625.08 
@= hf/L aLDffn]vsf] ;+Vof                             56,921 
#= gjLs/0f aLdfn]]vsf] ;+Vof                            11,889 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          2,426.10 
%= s'n bfjL e'QmfgL ;+Vofdf                              1,586 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                           7,313.15 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              3,749 

15= Pg Pn hL OG:of]/]G; s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                     22,984.63 
!=! r'Qmf k"FhL                       10,000.00 
!=@ hu]8f tyf sf]if                          4,392.35 
!=# aLdf sf]if                         8,592.28 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                     22,984.63 
@=! l:y/ ;DklQ -v'b_                          1,686.20 
@=@ lb3{sflng nufgL tyf shf{                         3,745.48 
@=# v'b rfn' ;DklQ -# – $_                      17,552.95 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      43,255.17 
#=! gub tyf a}+s df}Hbft                          2,153.91 
#=@ cNksflng nufgL tyf shf{                       25,050.00 
#=# cGo ;DklQ                         16,051.26 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      25,702.22 
$=! rfn' bfloTj                         6,884.21 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          5,554.13 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          3,795.83 
$=$ cGo Aoj:yf                         9,468.05 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         895.96 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            335.44 
!=@ nufgL shf{ tyf cGoaf6 cfo                            452.22 
!=# Aoj:yf lkmtf{                            108.30 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                         388.78 
@=! Aoj:yfkg vr{                             78.88 
@=@ ckn]vg vr{ 
@=# cGo vr{                                1.22 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                             81.58 
@=& cfos/                            227.10 

v'b gfkmf÷gf]S;fg -! – @=_                      507.18 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                      11,658.67 
!=! aLdfz'Ns -v'b_                          2,511.99 
!=@ k'gaL{df sldzg cfo                            958.27 
!=# nufgL, shf{ tyf cGoaf6 cfo                            205.59 
!=$ cGo k|ToIf cfo                               0.30 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          3,722.28 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         4,260.24 
@ Aoo -@=! – @=* ;Dd_                   11,323.23 
@=! bfjL e'QmfgL -v'b_                          1,304.83 
@=@ clestf{ sldzg                             90.50 
@=# k'gaL{df sldzg vr{                                0.31 
@=$ ;]jf z'Ns -v'b_                             27.09 
@=% cGo k|ToIf vr{                                1.56 
@=^ Aoj:yfkg vr{                           709.94 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          3,795.83 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          5,393.17 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      335.44 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         6,584.49 
@= hf/L aLDffn]vsf] ;+Vof                            45,733 
#= gjLs/0f aLdfn]]vsf] ;+Vof                            11,542 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                          2,516.56 
%= s'n bfjL e'QmfgL ;+Vofdf                              1,750 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                             9,890 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                              4,267 

16= l;$fy{ OG:of]/]G; ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      55,367.95 
!=! r'Qmf k"FhL                          2,666.39 
!=@ hu]8f tyf sf]if                       29,942.44 
!=# aLdf sf]if                        22,759.12 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      55,367.95 
@=! l:y/ ;DklQ -v'b_                            394.53 
@=@ lb3{sflng nufgL tyf shf{                         14,221.26 
@=# v'b rfn' ;DklQ -# – $_                      40,752.16 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     54,603.07 
#=! gub tyf a}+s df}Hbft                         4,942.02 
#=@ cNksflng nufgL tyf shf{                       44,500.00 
#=# cGo ;DklQ                          5,161.05 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      13,850.91 
$=! rfn' bfloTj                         2,146.85 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          1,533.83 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          6,512.47 
$=$ cGo Aoj:yf                          3,657.76 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                        1,231.08 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            534.14 
!=@ nufgL shf{ tyf cGoaf6 cfo                            696.94 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          713.15 
@=! Aoj:yfkg vr{                                3.63 
@=@ ckn]vg vr{ 
@=# cGo vr{                           400.00 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              61.29 
@=& cfos/                            248.23 

v'b gfkmf÷gf]S;fg -! – @=_                          517.93 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       9,101.88 
!=! aLdfz'Ns -v'b_                           599.54 
!=@ k'gaL{df sldzg cfo                             610.31 
!=# nufgL, shf{ tyf cGoaf6 cfo                            217.14 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          6,552.02 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          1,122.87 
@ Aoo -@=! – @=* ;Dd_                       8,567.74 
@=! bfjL e'QmfgL -v'b_                            140.55 
@=@ clestf{ sldzg                              15.14 
@=# k'gaL{df sldzg vr{
@=$ ;]jf z'Ns -v'b_                               6.00 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            359.75 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          6,512.47 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          1,533.83 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                         534.14 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         6,542.45 
@= hf/L aLDffn]vsf] ;+Vof                             17,510 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              2,214 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            141.50 
%= s'n bfjL e'QmfgL ;+Vofdf                                415 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
&= e'QmfgL x'g afFsL bfjL ;+Vofdf

17= /fli^ «o aLdf sDkgL ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      11,265.51 
!=! r'Qmf k"FhL                       10,000.00 
!=@ hu]8f tyf sf]if                             636.51 
!=# aLdf sf]if                            629.00 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      11,265.51 
@=! l:y/ ;DklQ -v'b_                           459.05 
@=@ lb3{sflng nufgL tyf shf{                            473.65 
@=# v'b rfn' ;DklQ -# – $_                      10,332.81 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      14,506.96 
#=! gub tyf a}+s df}Hbft                          3,546.57 
#=@ cNksflng nufgL tyf shf{                          9,382.60 
#=# cGo ;DklQ                          1,577.79 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       4,174.15 
$=! rfn' bfloTj                         1,442.41 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                          1,697.74 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                            170.79 
$=$ cGo Aoj:yf                            863.21 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         407.19 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            210.56 
!=@ nufgL shf{ tyf cGoaf6 cfo                             196.63 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          169.34 
@=! Aoj:yfkg vr{                              29.65 
@=@ ckn]vg vr{ 
@=# cGo vr{
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              37.75 
@=& cfos/                            101.94 

v'b gfkmf÷gf]S;fg -! – @=_                      237.85 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       2,556.81 
!=! aLdfz'Ns -v'b_                            975.41 
!=@ k'gaL{df sldzg cfo                           247.98 
!=# nufgL, shf{ tyf cGoaf6 cfo                             40.40 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                             167.33 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                          1,125.69 
@ Aoo -@=! – @=* ;Dd_                    2,346.25 
@=! bfjL e'QmfgL -v'b_                             165.76 
@=@ clestf{ sldzg                              35.29 
@=# k'gaL{df sldzg vr{                               0.06 
@=$ ;]jf z'Ns -v'b_                               9.75 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                            266.86 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            170.79 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                          1,697.74 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                      210.56 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          1,905.01 
@= hf/L aLDffn]vsf] ;+Vof                            19,920 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              2,793 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            285.63 
%= s'n bfjL e'QmfgL ;+Vofdf                                197 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          1,234.05 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                                 619 

18= hg/n OG:of]/]G; sDkgL ln
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

cGo



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                      11,672.34 
!=! r'Qmf k"FhL                       10,000.00 
 !=@ hu]8f tyf sf]if                            791.07 
!=# aLdf sf]if                            881.27 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                      11,672.34 
@=! l:y/ ;DklQ -v'b_                           348.14 
@=@ lb3{sflng nufgL tyf shf{                            438.67 
@=# v'b rfn' ;DklQ -# – $_                     10,885.53 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      17,365.00 
#=! gub tyf a}+s df}Hbft                          1,149.62 
#=@ cNksflng nufgL tyf shf{                        13,835.00 
#=# cGo ;DklQ                         2,380.38 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       6,479.47 
$=! rfn' bfloTj                          3,220.54 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                           1,366.53 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                            512.95 
$=$ cGo Aoj:yf                          1,379.45 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                         891.77 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            522.64 
!=@ nufgL shf{ tyf cGoaf6 cfo                            225.24 
!=# Aoj:yf lkmtf{                            143.89 
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          361.23 
@=! Aoj:yfkg vr{                             49.67 
@=@ ckn]vg vr{ 
@=# cGo vr{                               -   
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                             84.20 
@=& cfos/                             227.36 

v'b gfkmf÷gf]S;fg -! – @=_                            530.54 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       3,358.65 
!=! aLdfz'Ns -v'b_                          1,156.58 
!=@ k'gaL{df sldzg cfo                           449.84 
!=# nufgL, shf{ tyf cGoaf6 cfo                              68.69 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            265.46 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         1,418.08 
@ Aoo -@=! – @=* ;Dd_                       2,836.01 
@=! bfjL e'QmfgL -v'b_                            345.24 
@=@ clestf{ sldzg                            110.51 
@=# k'gaL{df sldzg vr{                               0.08 
@=$ ;]jf z'Ns -v'b_                              11.56 
@=% cGo k|ToIf vr{
@=^ Aoj:yfkg vr{                           489.14 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            512.95 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                           1,366.53 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                          522.64 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         3,318.44 
@= hf/L aLDffn]vsf] ;+Vof                            35,952 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              2,879 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            619.95 
%= s'n bfjL e'QmfgL ;+Vofdf                                597 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          1,211.60 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                                542 

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj

19= chf]* OG:of]/]G; sDkgL ln 

cGo

cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd
jf;nft

qm=;++
ljj/0f



n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                       8,268.47 
!=! r'Qmf k"FhL                         7,000.00 
!=@ hu]8f tyf sf]if                            629.04 
!=# aLdf sf]if                            639.43 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=!+@=%_                       8,268.47 
@=! l:y/ ;DklQ -v'b_                            394.55 
@=@ lb3{sflng nufgL tyf shf{                             85.00 
@=# v'b rfn' ;DklQ -# – $_                       7,788.92 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      10,567.91 
#=! gub tyf a}+s df}Hbft                            320.94 
#=@ cNksflng nufgL tyf shf{                        9,004.88 
#=# cGo ;DklQ                         1,242.09 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       2,778.99 
$=! rfn' bfloTj                           946.50 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                            835.15 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                            269.14 
$=$ cGo Aoj:yf                            728.20 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfDbfgL -!=! b]lv !=$ ;Dd_                          296.53 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                            138.90 
!=@ nufgL shf{ tyf cGoaf6 cfo                             157.63 
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                          139.86 
@=! Aoj:yfkg vr{                             26.49 
@=@ ckn]vg vr{ 
@=# cGo vr{                           23.82 
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff                              22.39 
@=& cfos/                              67.16 

v'b gfkmf÷gf]S;fg -! – @=_                             156.67 

qm=;++ ljj/0f  klxnf] q}dfl;s 
! cfo -!=! – !=^ ;Dd_                       1,583.20 
!=! aLdfz'Ns -v'b_                             361.14 
!=@ k'gaL{df sldzg cfo                            216.40 
!=# nufgL, shf{ tyf cGoaf6 cfo                              27.96 
!=$ cGo k|ToIf cfo
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            310.29 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                            667.41 
@ Aoo -@=! – @=* ;Dd_                       1,444.30 
@=! bfjL e'QmfgL -v'b_                              91.68 
@=@ clestf{ sldzg                              23.78 
@=# k'gaL{df sldzg vr{                               0.74 
@=$ ;]jf z'Ns -v'b_                                3.65 
@=% cGo k|ToIf vr{                               0.34 
@=^ Aoj:yfkg vr{                            238.41 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                            269.14 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                            816.56 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_  - -                            138.90 

qm=;++ ljj/0f  klxnf] q}dfl;s 
!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                          1,225.65 
@= hf/L aLDffn]vsf] ;+Vof                            15,784 
#= gjLs/0f aLdfn]]vsf] ;+Vof                              1,124 
$= s'n bfjL e'QmfgL /sd -?=xhf/df_                            206.61 
%= s'n bfjL e'QmfgL ;+Vofdf                                254 
^= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          1,119.70 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                                793 

cGo

20= ;flgdf hg/n OG:of]/]G; sDkgL ln
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

Plss[t cfo Aoo lx;fj


